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What is a vector model system?
Which of the following cannot be an attribute in a GIS?

a. 45.83,-179.45
Door A
An Image of a flag pole
18 hole golf course

. None of these are correct all can be an attribute %

True or False a 2-D planer coordinate system is fine on the earth’s surface becaus

itself is relatively flat.

True or False when using Latitude and Longitude on the earth’s surface ther '%t
distortion in the longitude lines near the poles but great distortion in t)‘Q lines.

L

The earth can be divided into 360°
a. In this system a minute =60 parts
In this system a second = 60 parts of a minute

b.
c. The Babylonians invented this system 4000 years %
d. Allanswers are correct &
e. Thisis a DMS system. %
Ina system the degree is named N g system and each minute and

second is a decimal point.
The longitude of the North pole is

o 150 QCP
TS

The latitude of the Gr i efidian is
a. 0
b. 180
c. 90 Q
d. N
Trueor F desy means study of earth’s shape.]

10. BLOB is ro for

arge Object
inary Leading Outcome Building
Big Leading Outcome Binge

% Big Large Out Binary set



